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; 

 

gy;Nju;Tf;fhd tpilfs; 

01.   08.   15.   

02.   09.   16.   

03.   10.   17.   

04.   11.   18.   

05.   12.   19.   

06.   13.    20.    

07.   14.   21.   

 

22.  

 

23.  

2021/01/01 %yjdk; = 300 000 

(+) Mz;byhd %yjdk; = 100 000 

(+) Mz;Lf;fhd tUkhdk; = 90 000 

  490 000 

(-) gw;W = (30 000) 

(-) Mz;Lf;fhd nrytpdk; = (60 000) 

2021/12/31 cupik = 400 000 

 

 

 

 

 

nrhj;J = cupik + nghWg;G 

280 000 = 150 000 + 130 000 

 tzpfKk; fzf;fPl;Lf;fy;tpAk; 

fzf;fPl;L rkd;ghLfs; - tpilfs ; 

juk; 10 
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24.  

 

njh. 
,y. 

nrhj;J cupik nghWg;G 
jsghlk; ,Ug;G fhR fld;gl;Nlhu;  fld; 

nfhLj;Njhu; 
tq;fpf; 
fld; 

kPjp 200 000 100 000 60 000 20 000 230 000 50 000 100 000 

1   (+)80 000  (+)80 000   
2  (+)10 000    (+)10 000  
3  (-)20 000   (-)20 000   
4  (-)8 000 (+)15 000  (+)7 000   
5   (+)100000    (+)100 000 
6   (-)6 000   (-)6 000  

 200000+ 82 000+ 249 000+ 20 000+ 297 000+ 54 000+ 200 000 
 

25.  

 

nrhj;J nryT cupik tUkhdk; nghWg;G 
fhR nfhs;tdT gw;W KjyPl;L 

tUkhdk; 
fld; 
nfhLjlNjhu; 

KjyPL cl;Rikf; $yp %yjdk; tpw;gid ml;LW fld; 
tl;b 

,ae;jpu 
Nja;T 
xJf;fy; 

tpsk;guk;  ngw;w 
juF 

tq;fpf; fld; 

,ae;jpu 
cgfuzk; 

tq;fpf; fld; 
tl;b 

 ngw;w 
thlif 

; 

jsghlk; nfhLj;j juF  KjyPl;L 
tUkhdk; 

 

ngwNtz;ba 
KjyPl;L 
tUkhdk; 

tq;fpf; fl;lzk;  ngw;w 
tl;b 

 

fld;gl;Nlhu; tPl;L thlif    
,Ug;G kpd; fl;lzk;    
 Copau; rk;gsk;    
 jsghl Nja;T    
 mwtpl 

Kbahf;fld 
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26.  

5/1 cupikahsu; %yjdk; <LgLj;jy; / Nrit tUkhdk; ngwy; 
5/5 tq;fpf; fld; ngwy; / nghUl;fs; fld; nfhs;tdT 
5/8 fhrhf nrYj;jpa nryT / gw;W 
5/10 ,yhgj;Jld; nghUl;fs; tpw;gid 
5/15 fld; gl;Nlhuplk; ngw;wJ / nghUl;fs; fhRf;F nfhs;tdT / nrhj;Jf;fs; fhRf;F 
nfhs;tdT 
5/18 tl;bAld; fld; jtizf; fl;lzk; nrYj;jg;gly; 
 
 
 
 

27.  

 
 

28.  

 fhR      + ,Ug;G  + fld;  
gl;Nlhu;  

 =  cupik  +  fld; 
nfhLj;Njhu; 

 + tq;fpf; 
fld; 

kPjp 120 000   +  80 000  + 30 000    +  30 000  +  60 000 
01.   -20 000  + 35 000  =  +15 000   
02.  -15 000        -15 000      
03.  -14 000 +14 000     
04.    -6 200           -6 200   
05.    -2 000              -500        -1 500 
06.  +32 000  -15 000           +17 000   
07.      -4 000          -4 000   

 114 800    +   55 000 +  65 000 =   161 300 +   15 000 +   58 500 
 

,yhgk; = +15 000 – 6 200 – 500 +17 00 = 25 300  

eilKiwr; nrhj;J =  fhR    =1 14 800 

    ,Ug;gG  = 55 000 

    nrhj;J          =        cupik   +     nghWg;G 

3/1 + 100 000 fhR +100 000 %yjdk;  

3/3 + 30 000 ,Ug;G   

 -30 000  fhR   
3/4 -  2 000 fhR  -2 000 kpd; fl;lzk;  

3/8 -12 000 ,Ug;G +3 000 ,yhgk;  

 +15 000 fld;gl;Nlhu;   

3/10 +9 000 fhR +9 000 tl;b tUkhdk;  
3/15 -2 000 fhR -2 000 gw;W  

3/18 +6 000 fhR   

  -6 000 fld;gl;Nlhu;   
3/20 -5 000 fhR  -5 000  

fld; nfhLj;Njhu 
3/25 + 50 000  fhR  + 50 000  tq;fp fld; 

jpfjp 

=  140 000 
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fld; gl;Nlhu;  = 65 000 

      234 800 

cupik  = 161 300 

nghWg;G  =   73 500 

cupik khw;wk; = ,Wjp cupik – Muk;g cupik 

    161 300  – 140 000 

    21 300 
 

29   

(1) cupikahsuhy; &gh 100 000 %yjdkhf <LgLj;jg;gl;lJ 

(2) &gh 10 000 ngWkjpahd ,ae;jpuq;fs; nfhs;tdT nra;ag;gl;ld 

(3) &gh 4 000 ngWkjpahd ,Ug;Gf;fs; fhRf;Ff; nfhs;tdT nra;ag;gl;ld 

(4) &gh 5 000 ngWkjpahd ,Ug;Gf;fs; flDf;Ff; nfhs;tdT nra;ag;gl;ld 

(5) fhRf;Ff; tpw;gid &gh 2 500 mjd; fpuak; &gh 2 000 MFk; 

(6) flDf;F tpw;gid &gh 2 000 mjd; fpuak; &gh 1 000 MFk; 

(7) &gh 25 000 tq;fpf; fld; ngwg;gl;lJ 

(8) (a) cupikahsupdhy; Nkw;nfhs;sg;gl;l fhRg; gw;W &gh 6000 my;yJ  

(b) VjhtJ nryT &gh 6000 nra;ag;gl;lJ  

     (9)(a) VjhtJ tUkhdj;Jf;fhd nfhLf;fy; thq;fy; &gh 7500 ngwg;gl;lJ my;yJ 

  (b) Nkyjpf Kyjdkhf &gh 7500 ngwg;gl;lJ 
(10) &gh 500 tl;bAldhd tq;fpf; fld; jtizf;fl;dk; &gh 5500 nrYj;jg;;gl;lJ  


